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7) (20points)Considertwo processes,eachwith two CPUburstswith oneI/O burstin between.
Process1 hasa CPUburstof 6 unitsfollowedby anI/O burstof 8 unitsandaCPUburstof 9 units.
Process2 hasa CPUburstof 4 unitsfollowedby anI/O burstof 3 unitsandaCPUburstof 2 units.
SupposethatProcess1 arrivesin thereadyqueuejust beforeProcess2 andjust afterProcess2 arrivestheprocessthatwas
in the CPU terminates.No otherprocessesarein the system.For eachof the schedulingalgorithmsbelow createGantt
chartslike you did for assignment1. Fill eachbox with thestateof thecorrespondingprocess.UseR for running,W for
waiting,andr for ready. Calculatethewaiting timesandCPUutilization (asa fraction)for eachprocessandfill in thetable
below. Be careful to take into account the I/O bursts of the processes.

a) First-Come/First-Served
b) ShortestJobFirst (non-preemptive)
c) PreemptiveShortestJobFirst
d) RoundRobinwith aquantumof 3.

GanttCharts:

a)FCFS 5 10 15 20 25 30 35 40

Process1

Process2

b) SJF 5 10 15 20 25 30 35 40

Process1

Process2

c) PSJF 5 10 15 20 25 30 35 40

Process1

Process2

d) RR 3 5 10 15 20 25 30 35 40

Process1

Process2

Algorithm
CPU WaitingTime Time Finished

Utilization Process1 Process2 Average Process1 Process2

a)FCFS

b) SJF

c) PSJF

d) RR 3

(OVER)


